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SUMMATIVE ASSESSMENT -1 (2015 - 16)
SUBJECT:-GENERAL SCIENCE
CLASS : VIII MARKS:- 90
DATE:- TIME:- 3 hrs
NO. OF SIDES:- 05
General Instructions :
1. All questions are compulsory.

2. Read the question carefully and answer

I. Choose the correct option from the following:- (15x1=15)

1 .The metal ore of copper
(a) Malachite (b) Magnetite (c) Cryolite (d) Haematite

2. A fibre obtained by chemical treatment of wood pulp
(a) Acrylic (b) Nylon (c) Rayon (d) polyester

3. In the given balanced chemical equation the formula of the product formed is
2Na + Cl2 ----- >
(a)Na Cl2 (b) NaxCl (c) NaCl (d) 2NaCl

4. A non-metal which is liquid in room temperature.
(a) Mercury (b) Bromine (c) Iodine (d) Sodium

5. The process by which artificial fibres are made from simple molecule is called
(a) Monomer (b) Polymer (c) Polymerisation (d) Blending

6. Which of the following is not a rabi crop?
(a) Rice (b)Mustard (c) Wheat (d) Barley

7. The species of plants and animals which are found only in a particular
region are known as

(a) Extinct (b) Endangered (c) Endemic (d) All of these
8.Red data book provides data on

(a) Red flowering plants (b) Red coloured fishes

(c) List of plants and animals (d) Endangered plants and animals

9.The process of conversion of sugar into alcohol is called
(a) Infection (b)Moulding
(c) Nitrogen fixation (d) Fermentation

10.What does our body produce to fight the invader when a disease carrying
microbe enters our body?

(a) Antigens (b) Antibodies
(c) Pathogens (d) Antibiotics
11. Spring balance is used to measure ------------------—- :
(a) Mass (b) Pressure (c) Weight (d) Density
12. The two common forces that are acting everywhere around us are------
(a) Friction and magnetic force. (b) Gravity and magnetic forces.
(c) Gravity and electrostatic force (d) Gravity and friction.

13. Sound waves travel fastest in --------
(a) Air (b) Metals (c) Vacuum (d) Liquids

14. Sitar sound is produced by -------------



(a) Beating (b) Rubbing (c) Blowing (d)Plucking

15. Which of these pictures correctly shows the way sound vibrates or travels.

] —

A B -3 D |
II. Answer the following:- (6x1=6)

1. Name any two natural fibres.

2. Identify the anion and cation in the following compound. Lead II carbonate
3 .Define the term Animal husbandry.

4.Give any two uses of microbes in food industry .

5. What is the “ Audible frequency range” of sound in human beings?

6. (a) Look at the figure and say a) what is the net force on B
(b) In which direction will the body finally move?

—>

III. Answer the following:- (9x2=18)
7. What are blended fibres? Give example

8. Write the name of the following compounds.

(a) KC1 (b) CuCOs (c) AgNO3 (d) Li2O

9. Give reason
(a) Copper is used in making electrical wires.
(b) Gold and silver are used to make jewellery.

10. Arrange the following in proper order to make a flow chart of wheat crop
production. Sending crop to wheat factory, irrigation, harvesting, sowing,
preparation of soil, ploughing the field,manuring.

11.What are weeds? Give any two examples.
12.List any two causes and consequences of deforestation?

13.(a) Define force.
(b) Give its expression or formula.
(c) Give its S.I. Unit

14. (a) What do you observe or understand from the 2 pictures.
(b) Why is this change happened?

15. TITANIC is a huge ship which took much longer time and distance to come
7



to stop and change its direction, but at the same time we could bring a bus
to stop immediately by applying brakes- Justify .

IV. Answer the following:- (12 x 3 =36)
16. Balance the following equation.

(i) S+ HNOs  ------- > SOz + NO2 + H20

(ii) Mg + HC1 =~ ------ > MgClo+ Ha 1

(iii) Na + HoO  ---——--- > NaOH +H2 1

17. Explain rusting. Mention two methods to prevent rusting.
18. Compare thermosetting plastics and thermoplastics with suitable examples.

19. With the help of required steps arrive at the chemical formula of the
following compound.
(a) Aluminium sulphate. (b) Calcium Bicarbonate.
(c) Silicon tetra chloride.

20.Define the following terms with one example each.
(a)Biosphere reserves (b)Wildlife Sanctuary (c)Extinct species

21.Explain any three reasons which have been a threat to thebiodiversity.

22.Why sowing seeds with a seed drill is better than by hands?Justify the
statement.Draw a diagram of a seed drill.

23.Give any three advantages and disadvantages of using a manure.

24.(a) Which part of the following instruments vibrate to produce sound ?
(i) Violin (ii) Tabla (iii) Flute
(b) Suggest three ways of minimizing noise.

25. What are the 3 characteristics of vibrations ? Define each of them.

26. Complete the following flowchart with appropriate answer :

CONTACT FORCE

| | |

Elastic force

NON CONTACT FORCE

| | |

Nuclear force

27. (a) Give reason for the following.




(i) A surgeon powders his hands before putting on his plastic gloves.
(ii) Porter wear a turban to carry load.
(b) Friction is a necessary evil.-Give an example.

V. Answer the following:- (3 x5 =15)
28. Explain displacement reaction with the help of an activity. Support your
answer with relevant diagram and chemical equation.

29. A.Study the given illustration and answer the following questions.
(i)What is the diagram illustrating? (i) Explain the illustration

(b) A valuable fuel used by the villagers.Which fuel are we talking about?How is it
produced? Give its uses.

30. (a) The mass of a suitcase is 50 KG, whose length, breadth and height are
100cm; 50cm and 15cm respectively. Find the pressure exerted by the
empty suitcase on the ground ,if it is resting on its base with length and
breadth. (Take Kg wt= 10N)

(b) Why a fountain pen leaks at higher altitudes?
(c) Name the instrument used to measure atmospheric pressure.
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SINDHI HIGH SCHOOL,HEBBAL

CLASS -VIII SA-1, COMPUTER SCIENCE MARKS:30
DATE: 30.09.15 TIME: 1% hr
| Fill in the blanks with correct words 1x5=5
1. A key refers to one or more columns which uniquely identify every row in a
table.
2. The ID field has the data type
3. The view allows greater control over specifying the properties.
4, The value of the src attribute is
5. An ordered list is also called a list
Il Write True or False 1x5=5

vk wn e

You can have more than one primary key field

A database can contain more than one table

You can enter data in design view

You can assign the Auto number data type to any field

The address of the image is specified by the list-style-image property

Choose the correct option 1x5=5
By default, the first field in a new table is
a)No b) ID ¢) SNo d) All of the above

Which of the following is an invalid filed name
a)Student’sName b) Student.Name c) Student_Name d) StudentName

Each item in the list is specified using the tag

a)<li> b) <list item> c) <item> d) <list>

An list is used for items in which the ordering is not specific.

a)Ordered b) Unordered c) Definition d) None of the above

You can use the tag to insert an image in a web page.

a)<image> b)<img> c) <image src> d) None of the above
Answer the following 1x5=5

Name any two DBMS packages

Name any two data types in Ms-Access 2013

Name any two tags required to create description list

Name the two views used in Ms-Access 2013

Name any two tags used under table tag

Which option in number filters menu will be used to do the following % x 5=2%

14
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1. To display all records with the salaries in the range of 50000 to 700000

2. To display all records with a salary below 50000

3. To display all records with a salary above 50000

4. To display all records with a salary other than 50000

5. To display all records with a salary that is exactly 50000

Identify the errors and write the correct HTML code % x 5=2%
<html> Correct HTML code
<head>

<title> welcome to htmi<title>

<style-type="text/scs”>

ol{ list style: upper}

</head>

</style>

Write the HTML code for the following 1x5=5

Create a web page by giving a list of important social networking sites.(use ordered list tag)

15
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General Instructions ? e
This paper contains four sections: . =+
Section A — Reading- 20 Marks L
Section B — Writing - 25 Marks ey T
Section C ~Grammar- 20 Marks ? . .
Section D-Literature- 25 Marks . "*_

All Sections are compulsory

Section A : Reading (20 marks)
1. Read the following passage carefixlly. .
HOW R K LAXMAN BECAME A CARTOONIST

() No one would quarrel with the state for having honoured Rasipuram
KrishnaswamyLaxman with a Padma Vibhushan: For Laxman, the creator of the
silent but observant ‘Common Man’ who has kept three generations of readers of
The Times of IndiaCompany at breakfast is no friend of power and wealth.

2) Apart from a brief interval, Laxman has been continuously at work for the last
fifty- eight years, recording foibles with an unsparing, independent eye: He has
punctured the pride of many people through his cartoons which take a close look at
the people’s pretences and bring them out into. the open in amatter-of fact manner.
Even now he has the ability to frankly criticise people and their actions and he
continues to offer amusement to the people ('in'lndia.

3) The Common Man, the legendary hero of Laxman’s pocket cartoon “You Said It’.
has represented the Indian since the late 1940s. As a voiceless witness — he has
battled several things. If no one remembers today who The Times of India
cartoonist was before Laxman came in, it is because there was none. Laxman who
joined the paper in 1947 had become indispensable within ten years. Having
launched off as a freelance cartoonist in Mysore, he had hoped to work in Delhi.
He first came to Bombay only to look at the sights. But the tourist adventure
became more serious when a friend offered to take him to Bombay Stock
Exchange. After amusing himself, watching the shouting and gesticulating at the
stock exchange, he walked down Meadows Street. He saw a large board which
read- The Free Press Journal. He went in to meet the editor and was given a job. -

4) He did a variety of daily cartoons, caricatures and Sunday specials for The Free |

Press Journal.
India had by then achieved 1ndependence but at the cost of partmon



n. the caricaturist, had a field ¢ 11, Jinnah, Mountbatten, Nehru
fier actors in those momentous Cr-oung '

m soon quit T/e Free Press Jowrnal. opped me, so I wandered in,
to the third floor and asked to see . recalls Laxman. He was
meet Walter Langhammer, who we the ant director of The Times of

ammer already knew his Mdmh immediately. From that
n’s cartoons have’ grcetedhmhma every morning
nes ranging from political conmentsry to lnsnour.
th has been an irreplaceable loss o e Times of India.

your reading answ!ver the following: 5X1=5
ave R K Laxman’s cartoons achiewed? How have they done this?

did he do before he came to the The Times of India?

were the circumstances in India just before he joined The Times of

he record the historic time of the patition of India?
the voiceless witness in R K Laxman’s cartoons? Who does he

the following statements: 3X1=3

n’s cartoons throw light on people’s i
abilityto =~ .
s of his cartoons range

13 }M'ﬁﬁ from the passage that mean the same as : - 2X1=2
2 = minor weakness or eccentricity in someone's character (para 2)

b. Absoluiely necessary. (para 3)

2. Read the peem carefully:
ARCHIMEDES PRINCIPLE

Studenis of physics are frequently told
Experiments preformed by the great physicists of old
ike Boyles and Charles — but greatest of these
weas the Principle discovered by Archimedes
The Sicilian King ,Archimedes was told,
Ordered a crown from a large lump of gold,
And though the weight of the gold was completely correct,
The goldsmith’s eye made the King suspect
That he’d made up the weight with some cheaper metal
And stolen some gold that his debts he. might settle.
His problem was then outstanding g
As he had no idea, whatsoever, of density.
Climbing into a bath he received a surprise
When he noticed the water beginning to rise.
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He suddenly snapped, and let out a scream,

As he realized, with joy, his long-wished —for dream.

He found the upthrust, produced on a body’s base, -

To be equal in weight to the water displaced,

And soon volumes and weights would mal'{’e‘it ﬁuite plain

What various metals the crown could contain,

And so he could easily show to his Royalty

The absolute proof of the goldsmith’s disloyalty.
Leaping out of the bath at remarkable rate,

He made for the palace by doorway and gate-

But the men in the street were completely cdﬁfou_nded
To see a man shout ‘Bureka! I’ve found it! T

2.1 Answer the following based on your understanding of the poem. 5X1=5

a.

i.
ii.

ii.

ii.
iv.

The king of Sicily asked the goldsmith to

Make a crown iii. Use cheap metal
Bring some water . iv. Clear the debt |

The man leapt out of the bath ata remarkable rate because ;
He wanted to meet the goldsmith - . -
He wanted to confront the King e
He wanted to inform the king about the goldsmlth’s betrayal
He wanted to shout ‘Eureka’. .

The word confounded means :

i. Confused iii. angry -
ii. = Happy iv. Sad

Identify the man in the bath.

i. The goldsmith iii. Archimedes
ii.  Theking iv. Boyle}s

The king suspected the goldsmith of stealing gold so that :
T, He could pay his loans

{i.  He could make more money using cheaper metals

iii. He could make the crown bigger

iv.  He could make jewellery for his wife.

3. Read the passage carefully.

MY RIGHT HAND VERSUS.— MY LEFT .

When I Ie'amed that my seventy-one year old mother was playing scrabble against

herself, I knew I had to do something.” Who’s play
saw a half

ing?” I asked one day when I
_finished game on the table.”My right hand versus my left.” Excuse

3 :



had taken fifteen years to persuade her tg buy a microwave, Nevertheless, we
packed up the old PC, complete with Scrabble and word ~processing programmes,
and delivered it to my parents’ home, And so began my mother’s adventure in the
world of computers, :

do anything, Despite the look of horror on her face when she first saw oy gift, my
mother was cager to get started. She sat mesmerized as the scree lit up and the
various icons presented themselves. Slowly, but surely, my mother caught on,
making notes in a little spiral book. ] wondered how she’d fare without me, Byt
thereafter, she only 'spoke of her game on the computer tq me. She even forgot to
ask her stock question, “What did you have for supper?” It was no longer on the
agenda. Instead she talked about RAM, ROM and the CPU- terms spilled out
effortlessly from her mouth. My mother had acquired a new mother tongue,

My Mother isn’t the only one experiencing a bersonal-growth spurt, Thanks to the
computer, my father has finally overcome his phone allergy. For as long as I can
remember, any time | called, my mother would answer, Then, a couple of months
ago, I heard dad’s gruff voice on the phone. “Why didn’t mum answer?” [ -
asked.”She‘s on the computer.” My father and I had more phone conversations in.
the last two months than we’ve had in the previous twenty years, After a lifetime
of being her child, I was finally the one with knowledge to share with my mum.
But even now, | realize that she continues to teach me, I'm learning that no matter
how old yoy are, a willing Spjrit is capable of anything.

3.1Answer the following by choosing the a'pprop.riate choice : 5X1=

i. because she wasg crazy 1ii. nobody wanted to play with her.
ii. to keep her mind active, iv. it was her solitary version of the game.

L. She was not tech sa-vvy. iif. was bogged down with house worl.
ii.was fond of reading, iv. was not fond of scrabble. :

¢. What was the language the mother had newly acquired?

i. English * {ii. Her husband’s mother tongue
ii.The local language  iv. Names of varipus computer parts

d.How do we know that the author’s mother was keen on learning computers?

i. She would be at the system trying to learn new things
ii. She did not show any inclination
1ii.She spoke only in her mother tongue _



™

iv. She was wary of the system.

e.What did the author finally realize ?

i. the urge for the need to grow makes everﬂhing possible.
ii. one cannot learn at any age. '

iii. Computers are complicated.
iv.Mother did not teach her anything.

Section B :Writing (25 marks)

4. You are the Headboy of St.Paul’s School ,Bangalore. Your school is organizing
a trip to Gangtok in the last week of October.As the Headboy , draft a notice in

about 50 words, giving all the relevant details of the trip. (4m)

5. Given below are some particulars of Sunil Gavaskar ,the former Indian cricketer.

Based on these facts write his biosketch within 100words. (6m)
Particulars

Name : Sunil Gavaskar
Scored : Over 10,000 runs 3 :
Began his test career in the West Indies and scored over 700 runs in the
first series. '
Captain : India and abroad in several tests’

Played tests : Over 125

Highest number of test centuries : 34

Now retired, cricket commentator and critic.

Books he has written :’Sunny Days’, ‘Idols’, *One Day Wonder’

6.Y our best friend has relocated to Hyderabad as a result of his /her father’s
transfer from Bangalore. Write a letter to him/her, expressing your feelings and the
realization of the strong bond you had formed with him/her in 120 words. (7m)

7. Recently Namita read an article in the newspaper titled ‘Cruelty to Animals’.

She made some notes. :
Man’s Cruelty to Animals

Animals and birds-born free- victims of man’s cruelty —caged birds —
circus animals-difficult and painful training — made to perform difficult
feats — domestic animals — calves deprived of cow’s milk; oxen, horses
and donkeys, beasts of burden — carry heavy 10ac}s — pull carts — no
freedom —no care —slogging — suggestions.

With the help of these notes and ideas from the unit ‘Endangered species’, write an
article for your school magazine in 150 words. (8m)



Section C: Grammar (20 marks)

8. Fill in the blanks by choosing an apprepriate word from the given options:
(1/2x8=4)
A weary traveller stopped at a Bedouin®s tent and asked for shelter fora)
{the ;2 , an, thee) night. Without b) (the, any, many, an ) delay, the man
killed c) (a the, an, a few") chicken and handed it to d) ( few,
ber his, the) wife fore) (an ,a ,their, theirs) gnest’s supper. As the
Womman stirred the meat in f) (2, the; an, hers) copper cooking pot, she
couldn’t resist tasting g)  * (a few .few, some, more) of the meat ,to see if it
was sof and tasty. But mouthful followed mouthinl, and there wasn’t h) (
2 few, some, any, few) chicken left . .

9. Given below is a conversation between two friends. Complete the
comversation in a suitable way, choosing the most appropriate option from
these given below: (1x4=4)

Sohan- When a) . from Shimla?
Sam : Yesterday evening,. ;
Sokan : How was the weather there?

b) .
Sam : The weather was fine. Yes, it was a liitle cold.
Sohan- Howc) - ?

Sam : Well I went to a number of places.

Soban : Did you go skating?

Sam : No, d) but we had a lot of fun
Sohan : It looks like you enjoyed yourself a lot.

Sam : Yes I did enjoy myselfa lot.

a. i) will you return iii) did you return
ii) have you retimned - iv) do you return
b. i) Was it very cold? iii) Has it been very cold?
ii) Is it very cold? iv) How much cold it was?
¢. 1) Much places did you visit? iii) many places had you visited?

i1) many places were you visiting?  iv) many places did you visit ?

d. i) I did not i)l had not
ii)I was not iv) I have not

10.The following passage has not been edited. Each line has an error. Write
the incorrect word and the correction in your answer sheet : (172 x8=4)

3

Whales are the largest mammals at the sea. Eg. at in
We know that the largest animals in land are i a) -- -
the elephants. But compared with a whale, an b =~ -
elephant is the tiny creature. If we put an elephant c) -- --
besides a whale, it would look like a cat except for its d) -- -~

I A



shape. A whale eats two to three tons of food at a e) -- -

single meal. The blue whales live wholly on planktons, X X

a form of organic life that drift on the oceans. Whales ' ) - ==
are slowly dwindling of number and must be preserved g) - M
before they became extinct. : ) o) e ~

11.Read the given conversation and complete the passage that follows:
' (1x4=4)

Customer: Waiter, there are flies in my food.

Waiter: But sir, they are fresh flies.

Customer: What do you mean?

Waiter: They arrived this morning, sir.

A customer in a restaurant complained that a)
The waiter told b) . When the customer

asked c¢) ;the waiter politely replied that
d) :

12.Rearrange the words and phrases to form meariingful sentences. The first
one has been done as an example: _ (1x4=4)

eg) is/the Taj Mahal/in /Agra/located.
The Taj Mahal is located in Agra.

i) stands /on the banks /it /of /river/Yamuna/the.

ii)  considered/of love/one of /the/it is/symbols/greatest.

iii) Emperor Shah Jahan /Murmtaj/by/in memory of/it/was built/his wife.
iv)  offis/white marble/made/it/a/monument/magnificent.

Section D; Literature (25marks) =

13.Read the given extracts and answer the questions that follow:
' : ( 1X3=3)
A)The songster heard his short oration, o,

And, warbling out his approbation, '

Released him, as my story tells,

And found a supper somewhere else.

a) Who is the songster?
i) nightingale  ii) glow-worm iii) cricket iv) a villager

b) What was the oration about?
i) praising the qualities of Almighty’s creation. iii) praising oneself.
if) criticising each other. iv) the virtues of God.

c) Identifsf the literary device in the last line. .
i) simile. ii) alliteration  iii) metaphor iv) personification
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B) For a whole day, I puzzled over this problem. For a whole day, my faith in
my people was shaken. When I passed by that afternoon, the little boys were
not there. . 0 (1x3=3)

v

a. What was the problem?
b. Who were the little boys?-
¢. What was the incident that made the narrator lose faith in his people?

O)It changed that time ~worn fadce. It reflected tenderness, gentle joy, rapture,
reverence. (1x3=3)

a)Whose face is being described?
b)Why did the face undergo a change?
c¢)How did the time worn face look originally?

14.Answer any four of the given questions in about 40 words: (2X4=8)"

a) Why was Baba sent to the zoo?

b) What message is the poet trying to convey through the poem Ozymandias?

¢) In God’s eyes, why did the peasant truly deserve the plate of gold?

d) Why was M. Loisel startled by his wife’s reaction on reading the invitation?
e) What does the narrator imagine when he sees a white man standing at the gate
and watching the two boys?

15. Imagine yourself to be Mathilde. After the ball, you have discovered the -
loss of Madame Forestier’s necklace. Make a diary entry expressing your
feelings .Word Limit 100. "

OR
All human beings are born free and equal in dignity and rights. Justify this
statement with reference to the lesson Jamaican Fragment! (8m)

-
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SUMMATIVE ASSESSMENT -1-2015-16
SUBJECT - MATHEMATICS

Class:vil . . " Max Marks : 90
Date: |-te-i5 . Time : 3 hrs.

No. of printed sides: 3

INSTRUCTIONS

1.

All questions are compulsory.

2. The question paper consists of 31 questions divjded into four sections

ol SR e

o

A,B,C, D.

Section A consists of 4 questions of 1 mark each, Section B consists of 6
questions of 2 marks each, Section C consists of 10 questions of 3 marks
each, Section D consists of 11 questions of 4 marks each.

SECTION A
Write the square of 16.

Find the value of (-g Ji (—2 ).

If3(y-5)=6findy. .
Using a suitable identity find the factors of 4a® — 8b%.

_ . SECTION B
Name the two parallelograms in which the diagonals are equal.
Which of the following numbers are perfect squares? Justify.
361 1023
Solve the cryptarithm.
4 A7
+ 5 B A
& ey L
One-fourth of a number is 10 less than two thirdsof the number. Find the

number,
Find the length of the side of a square whose area is 441m>.

. If a number is divisible by both 4 and 6, is it always divisible by 24. Why?

Give an example.

SECTION C

11. Verify the distributivity of multiplication of rational numbers over their

addition.

s

x(y+z)=(xy)+(xz)forx=—;—;y=§ i

12. Observe the following table and find if x and y are directly proportional.

Ram’s Age (x) 5 10 15°

Ram's father’s age 35 40 45
- ty)




13. The adjacefat fingre-HOPE fs a parallelogram. Find the angle measure x,
¥.z. State the properties you use o find them.

b

e v aH Z O
14 The denominator of a rational number is greater than its numerator by 4. |f
numerator is increased by 11 and the denominator is decreased by 1, the new
number becqmes'.g . Find the original number
“S. Lengths of adjacent-sides’of a parallelogram are 3cm and 4em. Find its
perimeter. i

18. Find the product of 108 and 96 by using a suitable identity.

17. At a party, colas, squash and fruit juice were offered to guests. One- fourth of
the guests drank colas, one-third of them drank squash, two-fifth of them
drank fruit juice and just three did not drink anything. How many guests were
there in all YT

LN

18. Con'structa! rhomt;us whose diagonals are 1dcm and 8cm.

198. Simplify the following

(3x+2) (2x + 3) ~ (4x=3) (2x 1)

20. 100 lamps can be ligzhted z!fhcsiurs per day for 10 days forf 200. How many
lamps can be lighted 4 hours per day for 10 days and for T 600.

SECTION D
21. Find four rational numbers between -1 and %.

22. A mixture :::fzpaint is prépared by mixing 1 part of red pigment with 8 parts of
base. In the following table find the unknown.

iParfs ef?égjpigmeﬁtt "' i 4 ' X ‘ 2 Ty
Farfsﬁbase : (-8 p_;Lw ’ q 160

23. Find the product and vefify the resultfora=3, h=5
" (a*+ ab) (a? - ab)

24. a) Write the multiplicative inverse of g :

b) Find the additive inverse of - %

c) Write the identity element of subtraction of rational numbers.
d) Write the identity element of multiplication of rational numbers,

8x _17 5 I
25. Solve for x: x+7—f S ?x

26. Find the square root of 27225:py division method. -
5 _2_'7



27. Verify that the difference of 724 and the number obtained by reversing the
order of its digit is divisible by 99 )

28. Write the expanded form of

i) (2a +3b)* and ii) (5m -9n)?
~ 29. Represent — 2 and > on the number line by
taking a suitable scale.

g

30. The students of class viii donated 12544 for an orphanage. Each student
donated as many rupees as the number of students in the class. Find the
number of students in the class. What moral value they are depicting?

31. Perimeter of a rectangle is 240cm. If its length is decreased by 10% and
breadth is increased by 20 %, we get the same perimeter. Find the length and
the breadth of the rectangle.

.8
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SINDHI HIGH SCHOOL

SUMMATIVE ASSESSMENT - I (2015 - 16) A
SUBJECT:-GENERAL SCIENCE /
CLASS : VIII ‘ MARKS:- 90
DATE:- B TIME:- 3 fhrs
= . : NO. OF SIDES:- DDLf
General Instructions : ge '
1. All questions are compulsory. o) £ A
2. Read the question carefully and answer =~ * ;
I. Choose the correct option from the foqux_gt’{'ing:- . ; (15x1=15)
1 .The metal ore of copper IS 4
(a) Malachite (b) Magnetite ": () Cryolite (d) Haematite
2. A fibre obtained by chemical treatment’ g;f wood pulp
(a) Acrylic (b) Nylon =¥ (c) Rayon * (d) polyester

3. In the given balanced chemical equation the formula of the product formed is
2Na + Clg -----> e
(a)Na Clz (b) Na2Cl %', (¢) NaCl (d) 2NaCl

4. A non-metal which is liquid in room tf_zmperatufe.
(a) Mercury (b) Bromine (c) Iodine (d) Sodium

5. The process by which artificial fibres are made from simple molecule is.called
(a) Monomer (b) Polymer (c) Polymerisation (d) Blending

6. Which of the following is not a rabi c:rop? .
(a) Rice (b)Mustard (c) Wheat (d) Barley

7. The species of plants and animals which are found only in a particular
region are known as

(a) Extinct (b) Endangered (Cj Endemic (d) Al of these
8.Red data book provides data on

(a) Red flowering plants (b) Red coloured fishes

(c) List of plants and animals (d) Endangered plants and animals

9.The process of conversion of sugar into alcohol is called !
(a) Infection (b)Moulding
(c) Nitrogen fixation (d) Fermentation

10.What does our body produce to fight the invader when a disease carrying
microbe enters our body? .
(a) Antigens (b) Antibodies

(c) Pathogens (d) Angibiotics
11. Spring balance is used to measure ------- A :
(a) Mass (b) Pressure : (c) Weight . (d) Density “
12. The two common forces that are acting everyfwhere around us are------ ;
(a) Friction and magnetic force. . -(b) Gravity and magnetic forces.
(c) Gravity and electrostatic force (d) Gréwity and friction.

13. Sound waves travel fastest in --—------
(a) Air (b) Metals (c) Vacuum (d) Liquids



/ 14. Sitar sound is produced by -------------

i |

Q
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(2) Beating (b) Rubbm g (c) Blowing (d)Plucking

15. Which of these p1ctures correctly shows the way sound wbrates or travels.

11. Answer the following:-
1. Name any two natural fibres.

(64 #égﬁ

o

(6x1=6)

2. Identify the anion and cation in the following compound. Lead II carbonate

3 Define the term Animal husbandry.

4 Give any two uses of microbes in food indusiry .

5. What is the “ Audible frequency range” of sound in human beings?

6. (a) Look at the figure and say a) what is the net force on B
(b) In which direction will the body finally move?

5:01\14—1 oo
|odhl+——L__;—————+&00rd

ITI. Answer the following:- o
7. What are blended fibres? Give!\examples R

8. Write the name of the following compounds.

(9%2=18)

(a) KCl (b) CuCOs . - (c) AgNOs (d) Li2O

9. (Give reason

(a) Copper is used in makmg electrical wires.
(b) Gold and silver are used to make jewellery.

10. Arrange the following in proper order to make a flow chart of wheat crop

production. Sending crop to wheat factory,

irrigation, harvesting, sowing,

preparation of soil, ploughing the field ,manuring.

11.What are weeds? Give any two examples.

12.List any two causes and consequences of deforestation?

13.(a) Define force.
(b) Give its expression or formula
(c) Give its S.I. Unit

14. (@) What do you observe or understand from the 2 pictures.

(b) Why is this change haq)pened'p
1[1 'S s,




(5. TITANIC is a huge ship which took much longer time and distance to come
to stop and change its direction, but at the same time we could bring a bus
to stop immediately by applying brakes- Justify .

IV. Answer the following:- ' ( 12 x 3 =36)
16. Balance the followiné equation. i

G S+ HNOz - > S0p+ NO2+:HpO

(@@ Mg+ HCL -—- < MgCl+ Ha 1 . !_.

) Na + H:O - > NaOH +HA*

o
17. Explain rusting. Mention two methods to prej
18. Compare thermosetting plastics and thermoy lastics with suitable examples.

19. With the help of required steps arrive. Eit.thég'ghemical formula of the
following compound. : : _:-— .
(a) Aluminium sulphate. i' (b]"(;alcium Bicarbonate.
(c) Silicon tetra chloride. : , ' ;
20.Define the following terms with one example each. ¢
(a)Biosphere reserves (b)Wildlife Sanctuary . (c)Extinct species

®
21.Explain any three reasons which have been a threat to thebiodiversity.

22.Why sowing seeds with a seed drill is better than by h-aqu?Justify the
statement.Draw a diagram of a seed drill.

)

23.Give any three advantages and disadvantages of using a fmanure.

24.(a) Which part of the following instruments vibrate to produce sound ?
(i) Violin (ii) Tabla (i) Flute '
(b) Suggest three ways of minimizing noise.

25. What are the 3 characteristics of vibrations ? Define each of them.

26. Complete the following flowchart with appropriate answer :

CONTACT FORCE

PICERE I

Elastic foce

NON CONTACT FORCE-

R

‘ P Mol Nuclear force




Q

27. (a) Give reason for.the following.
(i) A surgeon powders his hands before putting on his plastic gloves.
ii) Porter wear a turban to carry load.
(b) Friction is a necessary evil.-Give an example.

V. Answer the following:- (3 x5 =15)
28. Explain displacement reaction with the help of an activity. Support your
answer with relevant diagram and chemical equation.

29. A.Study the given illustration and answer the following questions.
(ijWhat is the diagram illustrating? (i) Explain the illustration

g e

f sy g S
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(b) A valuable fuel used by the villagers.Which fuel are we talking about?How is it
produced? Give its uscs.

30. (a) The mass of a suitcase is 50 KG, whose length, breadth and height are
100cm; S0cm and 15cm respectively. Find the pressure exerted by the
empty suitcase on the ground ,if it is resting on its base with length and
breadth. (Take Kg wt= 10N)

(b) Why a fountain pen leaks at higher altitudes?
(c) Name the instrument® used to measure atmospheric pressure.

kR AR R R



SINDHI HIGH SCHOOL
SUMIVIATIVE ASSESSMENT-1 2015-16
“Social Studies
CLASS: VI TIME:3 hrs. - -
DATE: §/10/15 - : MAX MARKS: 90
No of printed sides: 2
General Instructions
Answers to questions 1 to 8 should be written in one sentence only.
Answers to questions 9 to 22 should be written in three sentences.
Answers to questions 23 to 30 should be written in five sentences.

1) State any two humanitarian measures initiated by the British in India.  1x8=8M
2) How are -dates important in History ?

3) Who is the head of the police at the district level ?

4) Explain the responsibility of the District Cellector 7

5) What does FIR stand for ? =7

6) What is a mineral ?

7) What is sustainable development ?

8) Write one difference between biotic and abiotic resource.

9) The Indian weavers were ruined under the British rule. Explain. 3M
10) The Subsidiary Alliance was an indirect method of annexation. Justify 3M
11) Commercialisation of agriculture was a boon for the company but a bane for the
peasants. Give reasons. ‘ : 3M
12) What made the British conduct surveys routinely in India ? 3IM

13) The British served their interests well, but the Indians called them exploitative.
Suggest the key elements of governance that would have made the British

administration effective and humanistic. i 3M
14) The Indian Constitution provides the right to freedom Analyse. 3M
15) Except by the use of force, in what other ways can  the police effectively curb
crime 7 . 3M
16) The President has the power to impose President’s rule in any state, but he too
is not free to do so. What keeps him in check ? 3IM
17) Why are minerals important to us ? M
18) The police is the most important pillar of administration. Analyse. M
3M

19) What is plantatlon farming ?
20) It is the duty of every individual to conserve natural resources. Give 3 ways in

which you can conserve our valuable natural resources. 3™
21) Identify the layers in the soil profile and write about them. - 3M -




oy
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22) Observe the map and answer 3M

i. Identify the shaded province.

ii. Name the ruler who lost it to the British East India Company.

iii. Under whose leadership did the British East India Company teke control of
revenue collection in this province.

23) a) British education had both positive and negative impact on India.

Analyse
b) British rule was synonymous with the drain of wealth from India.Elaborate, 5M
24) What are the key features of the Indian Constitution ? SM
25) Explain the importance of independent judiciary. ' 5M
26) a) Differentiate between tropical,deciduous and evergreen forests.
b) Discuss ways in which forest fires can be prevented. 51

27) a) The use of firewood as a power resource has its own advantages and
disadvantages: Examine. -

b) Jute is called the golden fibre. Analyse. 5M
28) a) Inspite of the introduction of Green Revolution the yield per hectare of
cereals is low in India. Give possible reasons for this. SM

b) Human resource is the most valuable resource of the present time. Elaborate.
29) What was the impact of British rule on the life of tribal people ? 5SM
30) Why was Parliamentary form of government chosen in India ? 5M



